





Module 7.1 -- Exercise 2





Validation of a Test








		Three "skilled" employees obtained the following scores during the validation of a mastery test with 8 questions.  Each question was scored correct (1) or incorrect (0); and all questions have equal weight.








Question:


Trainee:�
1�
2�
3�
4�
5�
6�
7�
8�
Total Correct�
Percentage�
�
�
�
�
�
�
�
�
�
�
�
�
�
"Skilled" trainee A�
0�
1�
1�
1�
1�
1�
1�
0�
6�
75%�
�
"Skilled" trainee B�
1�
1�
1�
0�
0�
1�
1�
0�
5�
62.5%�
�
"Skilled" trainee C�
0�
1�
1�
1�
1�
1�
1�
1�
7�
87.5%�
�






		The results of the three "unskilled" trainees is shown in the table below.











Question:


Trainee:�
1�
2�
3�
4�
5�
6�
7�
8�
Total Correct�
Percentage�
�
�
�
�
�
�
�
�
�
�
�
�
�
"Unskilled" trainee D�
1�
1�
0�
0�
0�
1�
1�
0�
4�
50%�
�
"Unskilled" trainee E�
1�
0�
1�
0�
0�
0�
0�
1�
3�
37.5%�
�
"Unskilled" trainee F�
0�
0�
1�
1�
0�
1�
0�
0�
3�
37.5%�
�






		Complete Form 21 and state your preliminary conclusion with respect to the validity of the questions.  Try to complete this exercise before looking at the model answer.  If you have any questions, request assistance from your WS administrator.


Validation of Objectives and Tests
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